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(+5)-(+7)

(+48) ~ (-6)

-D-(-4)

(-21)+(-3)

(-5)-(+6)

(-3)+(-9)

(+4) X (-3)

(-5) X (+8)

(+2)+(+4)

(+18) = (+2)

(-15)+(-3)

(+8)-(+8)

(+2) X (-8)

(-4-(-1

(+16) = (+2)

(-6)-(-95)



@

3

4)

®)

©)

N

®

@

EDE - B D

R FR IR (BEE)

AT} A B
(+7) X (-4) 17 (+2) X (-9) G (—o)-(-7)
= -28 = -18 =2
(-24) = (+4) ¥ (-5)-(-2) GY (-9 X (-7)
= -6 = -3 = +63
(+5)+(-5) 19 (~4)+(-6) GO (+7)+(-6)
= 0 = -10 = +]
(-4)-(+5) O (~9)-(+7) GO (+4)-(-2)
- -9 - -16 = +6
(-64)+(+8) @V (-3)-(+6) GD(-6) = (-3)
- -8 - -9 )
(+8)-(-7) @D (48) = (-8) Y (-)+(+5)
= +15 = +6 = +3

(-9) = (+3) @D (~9)+(+8) B9 (-18) = (-2)
- -3 = - = 49
(+8)-(-4) @D (+9)-(-4) U0 (+4) X (+3)
= +12 = 413 = +12
(-2)-(+5) @ o) x (-7 D (-8)-(-6)
= -7 = -63 )
(+56) = (-7)  ©® (-8) X (+5) D ()-(-7)
- -8 = —40 = 45
(+8) X (-3) @D (+3) X (-4) 4 (+3)-(+2)
= -4 = -12 = 4]
(+2)-(+8) @ (+9)-(-2) U (+)-(-5)
= -6 = +11 = +12
+1D)=(+4) @Y (-9)-(-8) O (42)+(+7)
= +3 = -1 = +9
(+5)+(+9) GO (+6) X (-9) 4O (+6) X (+5)
= +14 = -54 = +30
(-4) X (+5) G (- X (-8) UD(-2) X (+8)
= -20 = +56 = -16
(+8) X (-7) B2 (+28) = (+7) ¥ (-8)-(+3)
= -56 = +4 = -1
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(+5)-(+7)

= -2
(+48) - (-6)
- -8
(-ND-(-4)

= -3
(-21)+(-3)
=+
(-9)-(+6)

= -11
(-3)+(-9)

= -12
(+4) X (-3)
= -12
(-5) X (+8)
= -40
(+2)+(+4)

= +6
(+18) = (+2)
= +0
(-15)+(-3)
= +5

(+2) X (-8)
= -16
(-4)-(-7)
:+3
(+16) = (+2)
:+8
(-6)-(-9)



